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Rocine Lesson 9

IRTTIR TRV 1071 070 NWh Npn

Leviticus 8:23



Goals

* |dentify and read Qal wayyigtol forms derived
from first nun [3] roots and npo.
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Goals Isj

* |dentify and read Qal wayyigtol forms derived
from first nun [3] roots and npo.

Igj j also j_ j? %
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Just to be clear... There is no such thing as I-71 or I-5 verbs. These are not
classes of verbs. 791 and 1P are just two individual verbs, albeit very
common verbs, that happen to follow the |-* and |-1 patterns respectively.



What we already know

IDRTIR TR 1PN DTN NWHh Npn

* How many wayyiqgtols can you spot?
 What does a string of wayyiqtols indicate?



First nun roots

IDRTIR TARHY 1PN INTH NWh Npn

Examining our two wayyiqgtols you should notice
some similarities.

* What is the prefix vowel?

 What kind of dagesh is in the consonant
following the prefix?




First nun roots
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First nun roots
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First nun roots

IDRTNIR AR5 zTn T nwh npn

dagesh | hireq dagesh | hireq
forte forte
NN ApDYYY

Looks a bit like a Piel but it’s not. It’s just a plain Jane Qal.
Piels have

* ashewa under the prefix

* no dagesh forte in the next letter.

* E.g.727 (Rocine Lesson 2)



First nun roots

IDRTNIR AR5 IT?I T nwh npn

dagesh | hireq dagesh | hireq
forte forte
NN ApDYYY

Looks a bit like a Piel but it’s not. It’s just a plain Jane Qal.
Piels have

e ashewa under the prefix 30 Wllﬂl

* no dagesh forte in the next letter. iS itn
* E.g. 7271 (Rocine Lesson 2) -



First nun roots

IDRTNIR AR5 zTn T nwh npn

dagesh | hireq dagesh | hireq
forte forte
NN ApDYYY

It’s a first Nun verb where the first Nun has
assimilated to the next consonant so you get two
of them and it is written as a dagesh forte.
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In English, “in” is a prefix negator for many words.

ability -> inability

active -> inactive
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What is Assimilation?

In English, “in” is a prefix negator for many words.

ability -> inability
active -> Inactive
mobile -> mobile ?7?
mobile -> immobile

The “n” has assimilated to the next consonant and become an “m”.



What is Assimilation?

In English, “in” is a prefix negator for many words.

ability -> inability
active -> Inactive
mobile -> mobie ??
mobile -> immobile
modest -> immodest
moral -> immoral
mature -> immature

In Hebrew, the resulting double letter is written with a dagesh forte.



First nun roots

IDRTNIR AR5 zTn T nwh npn

dagesh | hireq dagesh | hireq
forte forte
NN PPy
!
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So, what we see here is the result of assimilation.



First nun roots

IDRTNIR AR5 zTn T nwh npn

dagesh | hireq dagesh | hireq
forte forte
NN mApDYYY
! !
1) npo

So, what we see here is the result of assimilation.
And 1n% happens to follow the I-Nun pattern.



Missing Letter Rule #3

IDRTIR TARHY 1PN INTH NWh Npn

RULE:

When the first root letter which appears in the
wayyiqgtol (or yigtol) verb form is doubled by a dagesh
forte,

* the first root letter is a missing first nun 1

* or the special case of the first lamed 1pP% meaning
“take”.




Piel or I-Nun

IDRTIR TARHY 1PN INTH NWh Npn

Rocine calls the dagesh resulting from an assimilated
nun a “dagesh footprint”.



Piel or I-Nun

IDRTIR TARHY 1PN INTH NWh Npn

RULE: A dagesh cannot be both
e the sign of the Piel stem
* and a footprint dagesh at the same time.

l.e., if we have a footprint dagesh, we have the
Qal stem. In the Piel stem, a first nun does not
assimilate.




Piel or I-Nun

IDRTIR TARHY 1PN INTH NWh Npn

RULE: A dagesh cannot be both
* the sign of the Piel stem
* and a footprint dagesh at the same time.

l.e., if we have a footprint dagesh, we have the
Qal stem. In the Piel stem, a first nun does not
assimilate.

PWJ’1 Genesis 45:15 And he kissed [Piel]...

Nun does NOT assimilate because it is in an open syllable. No intervening vowel between it
and the next consonant. It is at the end of a closed syllable that Nun will tend to assimilate.
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4 types of missing letter verbs
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4 types of missing letter verbs
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Verb Analysis

Root

Stem

Form

Person, Gender,
Number

Function

Root
meaning
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Verb Analysis

Root | Stem Form HErEel, EEMeER Function Roo.t
Number meaning
. Historical Narrative .
InJ Qal Wayyiqgtol 3ms Mainline To give
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Verb Analysis

Root Stem Form Person; Gender, Function Roo.t
Number meaning
) Historical N ti
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Verb Analysis

Root Stem Form HETEEI, Gy Function Roo't
Number meaning
. Historical Narrative .
IﬂJ Qal Wayyiqgtol 3ms Mainline To give
npz-) Qal Wayyigtol 3ms Historical Narrative To take

Mainline




Prepositions

FIORTIR TR 1N 1070 AWh Rt

This mem is part of the preposition j1n.

Note the dagesh in the following dalet. This is an
assimilated nun, a “footprint dagesh”, as we have
seen with [-Nun verbs. See Animatedhebrew Lecture
8 - Preposition Min (11:25) for details.
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